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INSTRUCTIONS TO PUPILS
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Follow all instructions carefully.
There ara 13 questions in this booklet.
Answer ALL questions.

You are not allowed to use a calculator.
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Questions 1 1o 3 carry 1 mark each.

Questions 4 to 5 carry 2 marks each,.

For sach question, four options are given. One of them s the correct answer. Make
your choica {1, 2, 3 or 8). {7 marks}

1. Express 2.5% asadacim_ai.‘ |
1) 0.025
2) 0.25 .
3) 2.5
4) 25.0 " ¢ )

3
' Express; as a percentage.

o

1) 34%
2) 4%
3) 7.5%
4) 75% ( )

3.  The table shows the local parcel delivery charges. What is the delivery.charge
for delivering a parcel with a mass of 5.5 kg?

Mass Step Not Over Charge
1kg $10
2kg $18
5kg 342
Por additional step of 1 kg or part thereof 38
1) $50
2) 362
3) $60
4) $78 : ( )

2 Sub-Total: |




A wire measuring 824 m was cut by a machine inlo 600 equal pieces. What
was the total length of 10 pieces?

1 0.4 m
2y 1.04m
3) 10.4m
4) 1WaAm ) { )

The average mass of 4 girls is 36 kg and the average mass of 2 boys is 54 kg.
What Is the average mass of thess 6 children?

1) 80kg

2) 47 kg

3) 42kg

4} 30kg { )

3 Sub-Total




Questions 6 to 8 carry 1 mark each.

Questions 8 to 10 carry 2 marks each,

Show your working clearly in the space provided for each question and write your
answers in the spaces provided. For questions which require units, give your
answers in the units stated. {7 marks)

8. Find the value of 0.002 x 5000.

Answer: _

7. The average mass of two boxes is 1054 g. Whatis the total mass of the boxes?
Clve yoix;r answaer in kilpgrams.

Answer: kg

8. Thsaverage of two numbersis 37, Ona ofthe numbersis 14. Whatis the other
number?

Answer:

4 Sub-Total:




8.  The figure below, ABCD, is made up of squares and reclangles. What
percentage of ABCD is shaded? '

A

Answer: %

10, Kayel nailed Plank P, Q, R and 8 to make a frame.
The holes in Plank P and Plank Q are avenly spread out such that Plank P
and Plank O are divided inlo squal parts. The holes in Plank Pare 075 m
apart,
What is the length of Plank Q7
Give your answer in centimelres.

r o 875m

F s

Plank P

Plapk Q §

Plank R Plank S

Answer: om

5 Sub-Total:




For questions 11 to 13, show your working clearly and write your answers in the
spaces provided, The number of marks available is shown in brackets [ ] at the
end of each question or part-question. {11 marks)

11. The table below shows the amount that the library charges for each library
book that is overdue. Raees borrowed a few books from the library.
The books were 9 days overdue when he retumed them. He paid a total of
$12 for the overdue books. How many books were overdus?

Charges for each overdue book
For the ﬁkrst 7 days 20¢ per day
Aﬁer?days i 30¢ per day
Aos B

B Sub-Total:




12. Thers wers 120 beads in a box. 50% of the beadds aro red and the rest are
blue. '

{a) How many red beads ara thgre in the box?

{b}  After 21 red beads and some blue beads were removed from the box,
there were 3 imes as rmany red baads as blue beads left. How many
blue beads were removed from the box? “

Ans:(8) _ 1]

(b} : — 13

7 Sub-Total:




13, Atafruit stall, a fruit seller packed and sold these fruits at the prices shown.

Kiwis 3for $3.25

Pears T 2 for $1.50

The fruit seller sold an equal mimbe: of kiwis and pears. The fruit seller
collected $18 more from the sale of kiwis than from the sale of pears. How
many ki\afis-ivgrs sold?

Ans: : 4]

~ End of Papar ~

8 Sub-Total
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a1

E a2 |4 Jaz |1 [aa

5

0.001 x5000=5
5x2=1D

a7

1054x2=2108g
2108g = 2.108kg

Qs

37x2=74
74-14 =60

Qg

4-+16=0.25
0.25 =25%

010

0.75+3=0.25
0.25x5=1.25
1.258m=125om

First 7days : 0.20x 7 = 1.40

last 2 days : 030 x 2 = 0.50

1 book overdus for 9days 1 0.60+ 1.40=2
No. of book that were overdue =12+ 2=8
There were 6 books overdus.

Q12

al | redbeads: ;%95 % 320 =72 red beads

b} | Bluebeads:120~72=48
3u:72-21=51
Ju:51+3=17

Blue beads removed

48— 17 =31

There were 31 blue baads removed from the box.

3k:3.25

&k : .50

Pear:cost

2P :1.50

8P 1 4,50

diff : 6.50-450=2
18+2=9
Sxb=54

54 kiwis were soid.

EAP







